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Subject: Mathematics             	Grade: 11º        		Period: I	                          Year: 2019
SUGGESTION
Each period, the teacher formulates a problematizing question or situation related to the learning goals that help the student to train him/herself and get ready to prove his/her knowledge and proficiency levels in each area. This process is scheduled for the week in March from 18th to 22nd. The student should consult the bibliographic references cited by the teacher and turn in three academic products for the period written with basic standards to give account for the skills acquired.
1. Problematizing question:

How does the interpretation of diagrams, tables and graphs of functions contribute to the understanding of everyday situations?

2. Learning Goals
Understand situations of the daily environment through the interpretation of diagrams, tables and graphs of functions.
3. Academic products

· The reals and their properties.
· The reals and their properties.
· Linear and quadratic functions.
· Polynomial and rational functions.
· Full part functions and absolute value.
· Measures of dispersion.

4. Bibliographic references  

· Activity guide book
· Bibliobanco Book
· Texts suggested in classes.
· Youtube videos: https://www.youtube.com/watch?v=XDUFS7cnMRc





1. A company manufactures a product that has a unit price of sale of $ 20,000 and a unit cost of $ 15,000. If the fixed costs are $ 600,000,000, determine the minimum number of units that must be sold for the company to have profits.


2. Suppose a company offers you a position in sales and that you choose between two methods to determine your salary. One method pays $ 12600000 plus a commission of 2% on its annual sales. The other method pays a single 8% commission on your sales. For what level of annual sales is it better to select the first method?

3. Solve the following inequality and express it as a whole solution, line and interval:
 X -2 ≥ X+2
     
4. Solve the following inequality with absolute value
|x+5|÷ |x-5| ≥-4

5. [bookmark: _GoBack]An arrow is thrown with an initial velocity of 25m / s. The height of the arrow as a function of time is given by h(t)=-10t2 +25t. Find the height of the arrow after 2 seconds. For what time interval the arrow is at a height higher than 3m above the ground?
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